
LOSB4022 	 Camber and Steering Ball Set (12): 10-T
LOSB4109	 Suspension Hinge and King Pin Set (10): 10-T
LOSB4210	 Steering/Throttle/Brake Link Set: 10-T
LOSB5013	 Fuel Tank, Large: 810, 10T
LOSB5033 	 Engine Mount and Hardware Set: 10-T
LOSB5068	 Tuned Pipe – Losi 3.4 Engine
LOSB5069	 Exhaust Coupler and Header Spring 3.4 Engine
LOSB5070	 Exhaust Header 180° : 10-T
LOSB5071	 Exhaust Pipe Mount and Wire: 10-T
LOSB8035	 810 Painted Body w/Stickers
LOSB8155	 Wing: 810
LOSA4006	 Antenna Kit
LOSA6204	 4-40 x 1/2 Cap Screws
LOSA6206	 4-40 x 3/8 Cap Screws

LOSA6227	 4-40 x 1/8 Setscrews
LOSA6229	 4-40 x 3/8 Button Head Screws
LOSA6240 	 5-40 x 1/2 Cap Screws
LOSA6250	 4mm and 5mm Setscrews
LOSA6254	 2-56 x 1/4 Cap Screws
LOSA6256	 4-40 x 1/2 Button Head Screws
LOSA6264	 8-32 x 3/8 Flat Head Screws
LOSA6270	 5-40 x 3/8 Flat Head Screws
LOSA6271	 5-40 x 1/2 Flat Head Screws
LOSA6272	 5-40 x 3/4 Flat Head Screws
LOSA6274	 5/40 x 1 7/8” FH Screws (2)
LOSA6275	 5-40 x 5/8 Flat Head Screws
LOSA6277	 5-40 x 3/8 Button Head Screws
LOSA6278	 5-40 x 1/2 Button Head Screws

Radio Components
LOSB0818	 MSX Digital Servo
LOSB0819	 MSX Digital High Torque Servo
LOSB0899	 On/Off Switch

Option Parts
LOSA5224	 Certified Shock Fluid 30 wt.
LOSA5225	 Certified Shock Fluid 35 wt.
LOSA5226	 Certified Shock Fluid 40 wt.
LOSA99004	 Losi Cargo Bag
LOSA99006	 Losi Pit Roller Carrier/Pit Boxes
LOSA99007 	 Losi 1/10 Truck Diaper/Car Carrier
LOSA99013	 Losi Large Pit Mat
LOSA99015	 Losi Pit Apron
LOSA99104	 Losi Wrench Set US (4 pc)

LOSA99165	 Aluminum Turnbuckle Wrench
LOSA99167	 Losi Tuning Screwdriver
LOSA99772	 Camber Gauge
LOSA99173	 Ride Height Gauge
LOSA99174	 Car Stand
LOSA99202	 Losi-Lok Threadlock, Blue
LOSA99203	 High-Pressure Black Grease
LOSA99217	 Nitrotec Cleaner Spray
LOSB2960	 Front and Rear Spring Set (4)–Soft (Silver): 10-T
LOSB2962	 Front and Rear Spring Set (4)–Firm (Gold): 10-T
LOSB5201	 Losi Fuel Bottle 500cc
LOSB8036	 810 Body, Clear with Stickers

LOSA6279	 5-40 x 3/4 Button Head Screws
LOSA6282	 5-40 x 7/8 Button Head Screws
LOSA6286	 5-40 x 5/8 Button Head Screws
LOSA6290	 8-32 x 1/2 Button Head Screws
LOSA6293	 8-32 x 1/4 Setscrews
LOSA6295	 10-32 x 3/8 Setscrews
LOSA6298	 8-32 x 1/8 Setscrews
LOSA6299	 5-40 x 1/8 Setscrews
LOSA6302	 5-40 Steel Lock Nuts
LOSA6306	 Aluminum Mini-Nuts (10)
LOSA6350	 #4 and 1/8-inch Hardened Washer (24)
LOSA6907	 5 x 8 x 2.5 Ball Bearing (2)
LOSA6947	 5 x 11 Sealed Ball Bearings (2)
LOSA6954	 5 x 10 x 4 Sealed Ball Bearings (2)

LOSA6956	 12 x 18 x 4 Sealed Ball Bearings (2)
LOSA6957	 10 x 15 x 4 Sealed Ball Brng with Plas. Ret.(2)
LOSA6958	 6 x 12 x 4 Sealed Ball Bearings with Plas. Ret.(2)
LOSA7750	 1/8 Buggy Dish Wheel, White
LOSA7751	 1/8 Buggy Dish Wheel, Yellow
LOSA8200	 Body Clips
LOSA9150	 Air Cleaner Set: 8B/T/10-T
LOSA9151	 Air Cleaner Foams - Oiled: 8B/T/10-T
LOSR2100	 Losi 3.4 Engine
LOSR2137	 Full Pull Start Assembly: 3.4, 810
LOSR2138	 One Way Bearing, 3.4, 810
LOSR2139	 Backplate, Pull Start: 3.4, 810
LOSR2140	 Engine Spacers: 3.4, 810
LOSR2141	 Pull Start Only: 3.4, 810

A6278

B2163

A6302

A6302

A6272

B2906

B2163

A6286

A6275
B2211

B2213

A6240

A6227

B2222

B4109

A6286

B2021

A6290

B3104

A6295

A6278

A6282 A6302

B3564

B3564

B4022

B4022

A6302

B4023

B4003

B4023

B2213

B2211

A6275

B3556

B3556

B3555

A6282

B3571

B3104

B2278

A6947

A6947

A6957

B2100

B2100

A6958

B4022

A6272

B3499

A6302
B2100

B2100

B4109

B2220

A6270

B4023

A6270

B4003

A6271

A6271

A6270

B2279

B2279

B4210

A6256A6278

A6277

B2220

A6277

A2278

A6907

B2124

B2123

A6275

B2123

B2124

B4003

B4022

B4023

B4023

A6277

A6264

B4022

B4023

B2124

B5071

A6907

B2123

A6302

A6907

A2278
A6302

A6306
B4210

B4023

B4210

B4210

A6256
B5013

B5013

B2278

A6302

B3554
A6298

B2213
B2211

A6947

B3104

A6302 A6947

B4109
A6286

B4109
A6302

A6957

A6958

B3499

B3498

A6279

B2103B3567

B4003

B2222

B2213

B2211

A6274

B4023

B3564

B4022

B2023

A6295A6279

B3104

B3572

B2505

A6302

B2906

A6272

A6278

B2505

B8155

A6278

B2170

A8200
A6282

A6278 B3104

B3104 A6302

B4023

B4022

B3556

A6271

B3553

B3568

A6956

B3570

B3542

B3570

A6956

B3553

B3542

B3568

B3542
B3568

B3553
B3542

B3569
B3542

B3553

B3553
B3568
B3542

B3542

B4023

B4210

B4210

B3613

B3612

B3536

B3536

B3612

B3613

B3613B3613

B4210

A6277
B3536

B2403

A6229A6299
B4210

B3536
B4023

B4210

B3563

B3563
B3568

B3542
B3563

B3568

B3569

B3542
B3563

B3568
B3563

B3542

B3572
Rear

B3571
Front

B3542

A6956

B3563
B3568



© Losi, A division of Horizon Hobby, Inc. Not Responsible for Typographical Errors Printed 08/2010

30037

810 Exploded View and Price List
Replacement Parts

LOSB2021	 Front Suspension Arm Set: 10-T
LOSB2023	 Rear Suspension Arm Set: 10-T
LOSB2100	 Front Spindles and Carriers: 10-T
LOSB2103	 Rear Hubs and Spacers: 10-T
LOSB2123	 Steering Bellcrank Set: 10-T
LOSB2124	 Steering Posts/Tube and Hardware: 10-T
LOSB2163	 Front Shock Towers and Caps: 10-T9
LOSB2170	 Rear Shock Tower: 10-T
LOSB2211	 Front and Rear Pin Mount Cover Set: 10-T
LOSB2213	 Pivot Pin Mount Set (4): 10-T
LOSB2220	 Side Guard Set: 10-T
LOSB2222	 Front and Rear Sway Bar Set: 10-T
LOSB2278	 Chassis Brace and Spacer Set (3): 10-T
LOSB2279	 Steering Drag Link and Hardware: 10-T
LOSB2286	 Main Chassis Plate – Aluminum: 10-T
LOSB2360	 Radio Tray and Hardware Set: 10-T
LOSB2362	 Battery Cover: 810
LOSB2403	 Fr Bumper and Tank Guard Set: 10-T
LOSB2505	 Wing & Body Mount Set: 810
LOSB2825	 Front Shock Body Set: 10-T
LOSB2826	 Rear Shock Body Set: 10-T
LOSB2845	 Front and Rear Shock Shaft Set: 10-T
LOSB2904	 Front and Rear Shock Plastics & Ball Set (4): 10-T
LOSB2905	 Front and Rear Shock Boots (8): 10-T
LOSB2906	 Shock Rebuild Set (2): 10-T
LOSB2961	 Front and Rear Spring Set (4)–Med (Black): 10-T

LOSB3104	 Front and Rear Gearbox Set: 10-T
LOSB3312	 Flywheel and Collet: 10-T
LOSB3313	 Clutch Nut and Hardware: 10-T
LOSB3314	 Clutch Shoes and Spring: 10-T
LOSB3348	 17T Clutch Pinion Gear: 10-T
LOSB3370	 Clutch Bell (Only): 10-T
LOSB3498	 Wheel Nuts (4): 810
LOSB3499	 Wheel Hexes & Pins (4): 810
LOSB3536	 Center Diff Mount and Shock Tool Set: 10-T
LOSB3542	 Differential Housing and Seal Set: 10-T
LOSB3553	 Center Differential Outdrive Set: 10-T
LOSB3554	 Center Rear CV Driveshaft Assmembly: 10-T
LOSB3555	 Center Front CV Driveshaft Assmembly: 10-T
LOSB3556	 Center CV Driveshaft Couplers: 10-T
LOSB3563	 F/R Differential Outdrive and Hard Set (2)
LOSB3564	 F/R CV Driveshafts and Couplers (2): 10-T
LOSB3565	 F/R CV Couplers (4): 10-T
LOSB3567	 Fr/Rr Axles (4): 810
LOSB3568	 Differential Seals/Pin and Gasket: 10-T
LOSB3569	 Differential Gear Set with Hardware: 10-T
LOSB3570	 48T Center Spur Gear and Screws: 10-T
LOSB3571	 Front Ring and Pinion Gear Set: 10-T
LOSB3572	 Rear Ring and Pinion Gear Set: 10-T
LOSB3612	 Brake Disc Set (2): 10-T
LOSB3613	 Brake Pads, Cams, and Hardware: 10-T
LOSB4003	 F/R Camber/Steering Turnbuckle Set: 10-T
LOSB4023	 Rod End Set (15): 10-T

B3348

B3313

A6954

B3370

B3313

B3314

B3312

A6250

B5068

B5069

B5033

R2140

R2139

R2137

B5070

R2100

A9151

A9150

B2403

A6264

A6264

A6270

B5033

A6264

A7750 - White
A7751 - Yellow

Any 450 Series
Losi Tire with Foam

B2904

B2906

B2845

B2826

B2906

B2904

B2905

B2904B2904

B2960
Soft

B2961
Medium

B2962
Firm

B2904

B2906

B2845

B2825

B2906

B2904

B2905

B2904B2904

B2960
Soft

B2961
Medium

B2962
Firm

A2906
B2360 B2362

A6204

A6350

A4210

B2360

B0818

B0819

B2360

A4006

B2360


